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Question 1 (25 marks)
OK Foods Ltd plans to determine how changes in South African inflation rates, interest rates,
income levels, government controls, and expectation of future exchange rates will affect the
value of spot Rand/US dollar exchange rate. The results of the regression model estimated to
achieve this purpose are displayed in Table 1 below.

Table 1. Resulis of regression exchange rate determinants on Rand/USD spot rate

Variable coefficient t-statistic p-value
Constant 0.390 1.322 0.196
Alnflation rate -0.772 -8.224 0.000
Alnterest rate 0.380 3.120 0.009
Alncome level 0.290 2.843 0.006
AGovernment controls 0.190 1.918 0.068
AExpectation of future ExR. rates 0.183 1.950 0.061

Dependent variable = Rand/USD spot rate, R% = 0.929, F(5,27) = 824.457 [0.000], DW= 2.026

(i) Using f-statistic or p-value as a measurc of significance at the 95% confidence level,

identify variables that significantly influence Rand/USD spot rate. (12 marks)
(ii) Explain how an increase in the significant variables will affect Rand/USD spot rate. (13

marks)

_ Question 2 (25 marks)

Brower, Inc., A USA firm, intends to construct a manufacturing plant in Souih Africa. The
construction will cost 9 million South African Rand. Brower intends to leave the plant open for3
years. During the 3 years of operation, Rand cash inflows are expected to be 3 million Rand, 3
million Rand, and 2 million Rand, respectively. Operating cash flows will begin 1 year from
today and are remitted back to the parent at the end of the third year. At the end of the third year,
Brower expects to sell the plant for 5 million Rand, Brower has a required rate of return of 17
percent. It currently takes 15 Rand to buy 1 U.S. dollar, and the Rand is expected to change to 16
Rand to a dollar in year two and 17 Rand to a dollar in year three.

(i) Determine the NPV for this project. Should Brower build the plant? (16 marks)

(ii) The challenge of international capital budgeting is to accurately predict the financial
variables that are used to estimate cash flows. Briefly discuss any six of those financial variables.

(9 marks)

Question 3 (25 marks)
(i) Discuss the major reasons for entering into a forward contract, and highlight the differences

between a forward and futures contracts. (16 marks)

(il) Assume that the forward exchange rates of the British pound for various maturities are as
shown in the second column of Table 2. Compute the forward discount or premiums on an

annualized basis. (9 marks)
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Table 2. Spot and Forward Rates for USD/Pound Exchange Rates

Type of Exchange Rate for £ | Value Maturity B
Spot rate $1.672

30-day forward rate $1.677 30 days

90-day forward rate $1.680 90 days

180-day forward rate $1.681 180 days

Question 4 (25 marks)
(i) Blues, Inc., is an MNC located in the Swaziland. Blues would like to estimate its cost of
capital (WACC). The capital structure of Blues is composed of E.200 millon of debt at 17%,
F.150 million of preference shares at 14%, and 100 million ordinary shares with a current market
price of E.120 per share. The current rate of return on ordinary share is 12%, and the firm’s tax
rate is 30%. What is Blues® cost of capital? (15 marks)

(ii) Discuss the characteristics unique to each host country that can influence the MNC’s choice
of debt versus equity financing and thereby influence the MNC’s capital structure. (10 marks)

Question 5 (25 marks)
(1) What is the postulate of Interest Rate Parity Theory? Discuss the difference between covered

and uncovered Interest Rate Parity. (10 marks)
" (ii) Assume that Mr Brown has $10,000,000 with two options (a) invest: in US for 90days at 6%

interest per annum (b) invest in Japan at 39% interest rate per annum. The Y/$ spot exchange rate
is S = ¥106.00/$ and the 6 months forward rate is Y103.50/$. Evaluate his arbitrage profit or

loss. (15 marks)

END OF PAPER
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